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I. Choose the correct option: 

1. Which of the following pastoral communities are of  from the mountains?  
A. Gujjars 
B. Gaddis 
C. Sherpas 
D. All 
 

2 Dhangars were an important pastoral community in 
A. Gujarat 
B. Maharashtra 
C. Uttar Pradesh 
D. Assam 
 

3 What was the result of overgrazing pastures due to restriction on pastoral movements?  
A. The quality of pastures declined 
B. This led to deterioration of animal stock 
C. Underfed cattle died in large numbers during scarcity and famine 
D. All 

4 Raika pastoral community belongs to 

A. Himachal Pradesh 

B.  Rajasthan 

C. Jammu and Kashmir 

D. Maharashtra 

  

5 

                                           
 
The Maasi pastoral community is a nomadic tribe found in  
A. East Africa 
B. Australia  
C. Central Asia 
D. South America 
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6  The people who used to move from one place to another to earn their livelihood is called as: 
A. pastoralists 
B. nomads 
C. peasants 
D. tribal people 
 

7 Colonial State regarded grazing land as? 
A. Waste Land.  
B. Habitat of the wild. 
C. Reserved Land. 
D. Woodland.  
 

8 The Tax imposed by the colonial government on the pastoralists:                                 
A. Grazing Tax. 
B. Canal Water Tax. 
C. Salt Tax. 
D. Land tax. 
 

9. In which state of India do the ‘Gaddi’ shepherds live?  
A. Jammu and Kashmir 
B. Himachal Pradesh 
C. Maharashtra 
D. Karnataka 
 

10. In which of the following states Banjaras to be found 
A. Uttar Pradesh, Punjab, Karnataka 
B. Maharashtra, Madhya Pradesh, Andhra Pradesh 
C. Punjab, Rajasthan, Madhya Pradesh 
D. Tripura, Punjab, West Bengal 
 

B. Assertion and Reasoning: 
In the questions given below, there are statements marked as assertion (A) and reasons(R). Read 
the statements and choose the correct options: 

1 Assertion(A): The Forest Acts changed the lives of Pastoralists. 
 Reason(R): They were not prevented from entering many forests that had earlier provided 
valuable for their cattle. 
Options: 
A. Both A and R are true and R is the correct explanation of A. 
B. Both A and R are true and R is not the correct explanation of A 
C.A is true and R is false. 
D.A is false and R is true 
Ans: C. A is true and R is false. 
 

2. Assertion (A): All Pastoralists were not found in the mountains 
Reason (R): They were also to be found in Plateaus, Plains and Deserts of India. 
Options: 
 A. Both (A) and (R) are true and (R) is the correct explanation of (A). 
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 B. Both (A) and (R) are true, but (R) is not the correct explanation of (A).  
 C. (A) is true, but (R) is false  
 D. (A) is false, but (R) is true 
Ans. A. Both (A) and (R) are true and (R) is the correct explanation of (A). 
 

4. Assertion(A): The Maasai Cattle herders lived primarily in  West Africa. 
 Reason(R): Maasai land stretched over a vast area from North Kenya to the steppes of Northern 
Tanzania. 
Options: 

a. Both A and R are true and R is the correct explanation of A 
b. Both A and R are true and R is not the correct explanation of A 
c. A is true and R is false. 
d. A is false and R is true 

Ans: D. (A) is false and (R) is true 
        

5 Assertion(A): In 1871, the colonial government in India passed the Criminal Tribes Act.  
 Reason(R): By this Act many communities of craftsmen, traders and pastoralists were classified as 
Criminal Tribes. 
Options: 

e. Both A and R are true and R is the correct explanation of A 
f. Both A and R are true and R is not the correct explanation of A 
g. A is true and R is false. 
h. A is false and R is true 

Ans:  A. Both (A) and (R) are true and (R) is the correct explanation of (A). 
 
 

 
 
 
 
 
 
 
 
 
 

 


